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TOTAL POINTS

99 / 103

QUESTION 1

1 1a 3 / 5

✓ - 1 pts Wrong number of atoms in longest

conjugated chain

   - 1 pts Wrong number of sp2 hybridzed atoms

   - 1 pts Wrong number number of hydrogens

   - 1 pts Listed a nonexistent functional group

✓ - 1 pts Didn't list a present functional group

   - 0 pts correct

QUESTION 2

2 1b 5 / 5

   - 1 pts Wrong number of atoms in longest

conjugated chain

   - 1 pts Wrong number of sp2 hybridzed atoms

   - 1 pts Wrong number number of hydrogens

   - 1 pts Listed a nonexistent functional group

   - 1 pts Didn't list a present functional group

✓ - 0 pts Correct

QUESTION 3

3 1c 5 / 5

   - 1 pts Wrong number of atoms in longest

conjugated chain

   - 1 pts Wrong number of sp2 hybridized atoms

   - 1 pts Wrong number of hydrogens

   - 1 pts Listed a nonexistent functional group

   - 1 pts Didn't list a present functional group

✓ - 0 pts Correct

QUESTION 4

4 1d 4 / 5

   - 1 pts Wrong number of atoms in longest

conjugated chain

   - 1 pts Wrong number of sp2 hybridized atoms

   - 1 pts Wrong number of hydrogens

   - 1 pts Listed a nonexistent functional group

✓ - 1 pts Didn't list a present functional group

   - 0 pts Correct

QUESTION 5

5 2 16 / 16

✓ - 0 pts Click here to replace this description.

   - 2 pts counting pi electrons wrong

   - 4 pts counting pi electrons wrong (*2)

   - 2 pts getting wrong aromaticity

   - 4 pts getting wrong aromaticity (*2)

   - 8 pts counting pi electrons wrong (*4)

QUESTION 6

6 3 3 / 4

   + 4 pts Correct requirements (adjacent and parallel

p-orbitals, alternating double bonds, overlapping p-

orbitals, at least 3 p-orbitals)

✓ - 1 pts 1 incorrect/missing

   - 2 pts 2 incorrect/missing

   - 2 pts 3 incorrect/missing

   - 3 pts More than 3 incorrect/missing more than 3

   - 4 pts No answer/none

QUESTION 7

7 4 8 / 8

✓ - 0 pts Correct

   - 8 pts Incorrect

   - 1 pts wrong charge

   - 6 pts one step correct

   - 7 pts one step correct but charge is wrong

   - 3 pts three steps correct but charge is wrong

   - 5 pts two steps are correct but charge is wrong

   - 2 pts three steps correct

   - 2 pts one wrong reasonance



   - 1 pts wrong hydrogen number

   - 1 pts where is your hydroxyl group?

QUESTION 8

8 5a 5 / 5

✓ - 0 pts Correct

   - 2 pts R or achiral or wrong answer

   - 3 pts Wrong drawing (wrong

stereochemistry/achiral)

   - 1 pts Drawing partially wrong (wrote S instead of

SH)

QUESTION 9

9 5b 5 / 5

✓ - 0 pts Correct

   - 1 pts A or B wrong

   - 2 pts Both A and B wrong

   - 1 pts One stereocenter wrong

   - 3 pts Both stereocenters wrong

   - 1 pts Minor error in drawing

QUESTION 10

10 5c 5 / 5

✓ - 0 pts Correct

   - 1 pts One wrong

   - 2 pts Two wrong

   - 3 pts Three wrong

   - 4 pts All four wrong

   - 1 pts Any wrong stereocenter on drawing

   - 1 pts Minor issue with drawing

QUESTION 11

11 6a 8.5 / 8.5

✓ - 0 pts Correct

   - 1 pts Minor mistake

   - 4 pts Intermediate mistake

   - 6 pts Major Mistake

   - 8.5 pts Completely wrong

QUESTION 12

12 6b 8.5 / 8.5

✓ - 0 pts Correct

   - 1 pts Minor Error

   - 4 pts Intermediate Error

   - 6 pts Major Error

   - 8.5 pts Completely Wrong

QUESTION 13

13 7a 10 / 10

✓ - 0 pts Correct

   - 5 pts set 1 wrong

   - 5 pts set 2 wrong Correct: DBAC/ CBAD

QUESTION 14

14 7b 10 / 10

   - 5 pts set 1 wrong.

   - 5 pts set 2 wrong. Correct: DABC/ CABD

✓ - 0 pts Correct

QUESTION 15

15 bonus 3 / 3

✓ - 0 pts Correct drawing of H bonds, correct base

pair (GC)

   - 1.5 pts Incorrect H bonds

   - 1.5 pts Incorrect interaction

   - 3 pts No answer
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